2A: SAEHY

Hu: FWAAE 0YIIY HS(SEHSSA/HSSA - 0fF)

Chel: MAF DIBIAIE &5

(et &)

Husz

2A-F3H-92(8) - HEAL - BHES Ol &+ I
e 25,963, 131 23,860,681 2,102,450
= 2,711,3% 2,089,000 622,396
X 14,320,000 14,320, 000 0
= 8,931,735 7,451,681 1,480,054
FYHAS 012YIIY HB(SUHYLA/HS 2L - 0 ) 25,923,703 23,821,253 2,102,450
3 2,711,3% 2,089,000 622,396
X 14,320,000 14,320, 000 0
= 8,892,307 7,412,253 1,480,054
M4 DIBAIE &S 11,706,203 9,423,753 2,282,450
=2 1,676,396 804,000 872,39
X 6,031,000 6,031,000 0
= 3,998,807 2,588,753 1,410,054
YEHg0RRS(3D) 308, 100 516,886 £208,786
= 273,000 458,000 185,000
= 35, 100 58,886 23,786
403 XX EHXI S XHZ 0| & 308, 100 516,886 £208,786
2 273,000 458,000 185,000
= 35, 100 58,886 £23,786
01 RtXISHH 2R E 308, 100 516,886 208,786
OMEHLOT 2SAY 308, 100 516,886 A208,786
2 273,000 458,000 185,000
= 35,100 58,886 A23,786
KRR B2 (K OBAS (HAHFHE NSO ALH 7,651,840 6,375,000 1,276,840

B (=2)

X 5,100,000 5,100,000 0
= 2,551,840 1,275,000 1,276,840
401 AN EHILLOHYI 7,651,840 6,375,000 1,276,840
X 5,100,000 5,100,000 0
= 2,551,840 1,275,000 1,276,840
01 Al 7,636,840 6,360,000 1,276,840
OMBHHS XILOIE AL (ZSHBAL) 1,276,840 0 1,276,840
SI2BHOI M2 A (R XA ) (280l 2 =) (2 1) 1,214,396 0 1,214,396
= 1,057,396 0 1,057,396
= 157,000 0 157,000
101 Q1244 20,000 0 20,000
| = 20,000 0 20,000
04 JIAHB2NELSS 20,000 0 20,000
OIILH2ER 24 20,000 0 20,000
= 20,000 0 20,000
301 et A 8,612 0 8,612
2 8,612 0 8,612
IPEERE] 8,612 0 8,612
YISERE 8,612 0 8,612
2 8,612 0 8,612
401 N EHILLOHYI 1,185,784 0 1,185,784
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D AMEB

FH: JUHJE HYIIE HS(sHHLFM/HS=4 - O E)

R Ma JIBIAIE &5 (Bl ®Q)

2A -3 -22(3) - NRAY - BES Ofl &k JEA Husz
= 1,028,784 0 1,028,784
S 167,000 0 157,000
01 Al&Hl 1,185,784 0 1,185,784
OXFZa Zoioid 2= 1,185,784 0 1,185,784
= 1,028,784 0 1,028,784
= 157,000 0 157,000
JEz=E0Y =4 7,919,300 7,734,300 185,000
= 535,000 535,000 0
X 4,795,000 4,795,000 0
& 2,589,300 2,404,300 185,000
HotOiE MAA =e 1,383,000 1,258,000 125,000
202 Ol 13,400 9,000 4,400
04 = H 804 b 4,400 0 4,400
OUEX X oHatar o2l dEAIE AlZ 4,400 0 4,400
301 gt A= 15,600 0 15,600
06 212t01 =2/ 04 I 15,600 0 15,600
OUEXI X oHatat diel AXAIE AlE 15,600 0 15,600
403 MHXISHMSKE20IH 1,351,000 1,246,000 105,000
01 X SHA=2ER 1,351,000 1,246,000 105,000
Othah M=agal 344,000 254,000 90,000
O&JIZIHl M e E2Al 15,000 0 15,000
=MTE ERE PE(IIEFIY) 180,000 120,000 60,000
403 XXM SK201H 180,000 120,000 60,000
01 HXSHHA=2EXE 180,000 120,000 60,000
O=4HNR ERE ASANEY 180,000 120,000 60,000
FEANE =4 & 42 XA 6,298,200 6,663,200 £A365,000
= 500,000 750,000 A250,000
X 3,494,000 3,494,000 0
& 2,304,200 2,419,200 A115,000
SR ool Hb| 288,000 163,000 135,000
403 MXISHMSK=20lH 288,000 153,000 135,000
01 AXSHHA=EE 288,000 153,000 135,000
ORALX dH+S2AME X3 288,000 163,000 135,000
SAHAR AR - EXXIRAIY (2D) 1,000,000 1,500,000 A500,000
= 500,000 750,000 2,250,000
= 500,000 750,000 A250,000
307 2i2t01 A 1,000,000 1,500,000 £A500,000
= 500,000 750,000 A250,000
& 500,000 750,000 A250,000
02 QIZHAMAHEE 1,000,000 1,500,000 £A500,000
Ottt &Y - EXXIA 1,000,000 1,500,000 A500,000
= 500,000 750,000 A250,000
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SA SAFHY
M AWAQYE 01D E HS(STHYSA/HYLA - OfF)
o9 SEAE T4 Y 2A2 JIXAD (o9 &)
BN -FHH.O(EH) - NEANY - BYS 01l AFoH JlH o Hos2
- = ~— 500,000 750, 000 250,000
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